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SOCIOLOGY
Paper III

Time Allowed : 2% Hours] [Maximum Marks : 150

Note —This paper contains seventy five (75) multiple choice questions. Each question

carries two (2) marks. Attempt all questions.

1. According to Ethnomethodologists, which type of reasoning is used by the

people ?
(A) Inductive reasoning (B) Deductive reasoning
(C) Practical reasoning (D). No reasoning
2. ‘Conversational analysis’ is a part of which of the following

methodologies ?
(A) Phenomenology (B) Verstehen
(C) Ethnomethodology (D) Structuralism

3. Which perspective is based on the assumption that Indian society is unique

and the Indian social institutions can be better studied through texts ?
(A) Subaltern (B) Indological |
(C) Civilizational (D) Structural/Functional
4. Who has written the book ‘Theory of Communicative Action’ ?
(A) Alexander | (B) Habermass

(C) Althussar (D) Derrida
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5. ‘Neo-functionalism operates with descriptive model of society that looks society

as composed of elements which form a pattern.” Who has stated this

view ?
(A) P. Colomy (B) J. Alexander
(C) T. Parsons . (D) R.K. Merton
6. According to neo-Marxists, which of the ideas about human nature have often

been used to argue against any social change ?

(A) Our natural greed and our natural gender differences
(B) Our natural tendency to violence
(C) Both (A) and (B)

(D) None of the above

& Who considers “Language as disorderly and unstable” in his concept of

“Deconstruction” ?

(A) Derrida (B) Godelier
(C) Foucault | (D) Lemert
8. Who among the early sociologists of Indian introduced a down-to-earth

empiricism in Indian Sociology and Social Anthropology ?
(A) G.S. Ghurye (B) R.K. Mukherjee

(C) A.K. Saran (D) None of these

T.B.C. : 36/13/ET=IT_ 4
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9. Who has argued that ethno-methods are ‘reflexively accountable’ ?
(A) Max Weber (B) H. Garfinkel
(C) A Schutz (D) H. Blumer

10. Who has edited the voluminous work ‘People of India’ ?
(A) G.S. Ghurye (B) S.C. Dube
(C) Yogendra Singh (D) K.S. Singh

11. Which are the v&rorks of G.S. Ghurye ?
(I) Tribal Heritage of India
(IT) Cities and Civilization
(III) Culture and Society
(IV) Indian Sadhus .

Select the correct answer from the codes given below :

Codes :
(A) (IV) only B) (@, I, (IV)
(C) (1D, (III), (IV) O @O, an, (I1m, av)

T.B.C. : 36/13/ET-TIL_ 6
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12. Match List-I with List-II :

List-I | List-IT
(Authors) : (Books)
(@) S.C. Dube ~ (i) India’s Village
(b) MLN. Srinivas (1) Caste and Race in India
(¢) G.S. Ghurye (iit) Castes in India : Their

Mechanism, Genesis and
Development
(d) B.R. Ambedkar (tv) Indian Village

Select the correct answer from the codes given below :

Codes :

(a) (b) (c) (d)
(A) () (i) (ii) ()
(B) (iv) (@) (i) (i27)
(é) (iv) (@) (zi1) (if)
(D) @) (zv) (1) (ii7)

T.B.C. : 36/13/ET=TI[. 8
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13. Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R) : |

Assertion (A) : Metropolitan cities are dominated by large size slums.

Reason (R) : There has been large scale migration of rural population to
urban centres with the growth of industries and job opportunities.

In the context of the above statement, which one of the following is
correct ?

Codes :

(A) Both (A) and (R) are true, but (R) is not the correct explanation
of (A)

(B) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

14. Given below are two statements, one is labelled as Assertion (A) and the other
~ labelled as Reason (R) :

Assertion (A) : Economic regional disparities exist in India.

Reason (R) : Economic regional disparity is an outcome of allocation of budget
by the Government.

In the context of the above statement, which one of the following is
correct %

Codes :

(A) Both (A) and (R) are true and (R) is not the correct explanation
of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

T.B.C. : 36/13/ET-II[_. 10
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15.

16.

17

18.

19.

The term ‘white-collar crime’ was first introduced by :
(A) C. Barnes (B): E. Sutherland
(C) A. Cohen (D) E. Durkheim

According to whom “Societies characterized by too much or too little regulation

or integration will have high suicide rates” ?

(A) Parsons . (B) Weber

(C) Durkheim (D) Merton

Dowry Prohibition Act was passed in the Year s
&) 1959 (B) 1960

(C) 1961 (D) 1958

Right to Education was introduced as Fundamental Rights under which of

the following Articles of the Indian Constitution ?
(A) Article 14 (B) Article 21
(C) Article 21-A (D) Article 16

National Commission on Status of Women was appointed in the year

.....................

(A) 1981 (B) 1961

(C) 1971 (D) 1991

T.B.C. : 36/13/ET-TIL. 12
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20.

21.

22,

23.

Gender stereotype means :

(A) thg rights and duties associated with gender

(B) a role model

(C) attributes and qualities commonly associated with gender
(D) all of the above

The process by which national integration is achieved by recognising the

separate but equal status of the various constituents of a nation is

called :
(A) Multiculturalism” (B) Secularism
(C) Separatism (D) Two-nation theory

“A society is the largest meaningful group to which the individual belongs

and is almost identical to nation or nation-state.” Who says this ?
(A) Durkheim (Bi Parsons

(C) Stewart and Glynn (D) Pareto

Aminocentesis is a :

(A) Sex-detection text

(B) AIDS detection text

(C) Method of medical termination of pregnancy

(D) None of the above

T.B.C. : 36/13/ET-]]] 14
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24. What is the capital-labour relationship in the era of globalisation ?
(A) Labour through capital (B) Capital through labour
(C) Labour through labour (D) None of these

25.  Daniel Lerner, Harold Gold, Milton Singer and Yogendera Singh prefer the

term ‘modernization’ in place of :
(A) Westernization - (B) Sanskritization
(C) Parochialization (D) TUniversalization
26. Community Development Programme was launched in the year .................. '
(A) 1940 (B) 1950
(C) 1952 | (D) 1949

27. The Jajmani system is an expression of the interdependence of

different .........cc.iviac
(A) Classes (B) Elite groups
(C) Castes (D) Feudal Estates

T.B.C. : 36/13/ET-]IL.. 16
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28.

29.

30.

A process of downward spread of elements of cultural tradition, which is written

and widely adopted by the elites of the society is called :

(A)

(C)

Great tradition (B) Little tradition

Universalisation (D) Parochialisation

The system of Panchayati Raj :

(A)

(B)

(©)

(D)

has removed the distinction based on the hierarchy of castes in the

villages
has taken over the traditional functions of caste panchayat in the village

has recognised equality among people without distinction of caste,

language or religion

has been responsible for the introduction of decentralised planning in

India

Name the scholar who describes agrarian structure of rural India as ‘Malik’,

‘Kisan’ and ‘Mazdoor’ ?

(A)

(C)

A.R. Desai (B) D.N. Dhangare

Kathleen Gough (D) Daniel Thorner

T.B.C. : 36/13/ET=[1L. 18
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31. ‘Rurbanism’ is a term that is related to the s'tudy OF siuonbmigiduns
(A) Villages
(B) Toﬁ and cities
(C) Rural areas
(D) Life styles of n‘u'al-urban people

32. © Who among the following has brought out many instances of the simplicity

of cultural expressions by tribal villages ?
(A) Verrier Elwin (B) M-acIver
(C) O’mella : (D) Blunt.
33. The big farmers in the villages are sometimes labelled as :
(A) Landlords | (B) Kulaks
(C) dJ amindars | (D) Jagirdars

34. In a modern society, if a peasant’s son becomes a skilled worker in a city,

then it is a case of ........c.eee.
(A) Horizontal mobility

(B) Upward mobility

(C) Downwayd mobility

(D) Geographical mobility

T.B.C. : 36/13/ET=TIL. 20



31.

32.

33.

34.

‘TR v fEee svmEs | wefud § 2
(A) Tifa
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(A) a&fgs afaefiera
(B) Fed mifceiteran
(C) srumfeaefieral
(D) wrifes wfaefiea
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35.

36.

37.

38. -

Who among the following has argued that the urban community is nothing

but an extension of rural community ?
(A) David Pocock (B) Louis Dumont
(C) Levi-Strauss (D) Both (A) and (B)

Which one of the following statements is correct ? Industrial society refers

to :

(A) Durkheim’s concept of mechanical solidarity
(B) Tonnies model of Gesellshaft

(C) Parsons’. model of collective orientation

(D) Redfield’s type of Archiac society

According to whom, the manual working class has beecome increasingly

heterogeneous :
(A) Karl Marx (B) R. Dahrendorf
(C) Frank Parkin . (D) Max Weber

Which one of the following, accox'-ding to Selig Periman, account for the rise

of trade unions ?
(A) Need for identity (B) dJob scarcity

(C) Exploitation (D) Need for solidarity

T.B.C. : 36/13/ET=][T_. 22



35.

36.

37.

38.
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39.

40.

41.

42.

The book ‘Sociology of Economic Life’ was written by :

(A) A. Etzioni (B) J. Schumpeter

(C) Neil J. Smelser E (D) M. Weber

The industrial society is denoted by :

(A) Mass production

(B) Extreme division of labour

(C) Occupational subcultures

(D) All of the above

Which of the following is not a characteristic of industrial society ?
(A) Heterogenous population (B) Prevalence of sacred concern
(C) Complex division of labour (D) Impersonal relationships
E.V. Schneider has written :

(A) Sociology of Industry

(B) Industrial Democracy

(C) Industrial Sociology

(D) Workers’ Participation in Management

T.B.C. : 36/13/ET=[1. 24
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43. The sociologist who has analysed Indian society and his work on peasant

unrest in quite popular. Name that sociologist :

(A) M.N. Srinivas (B) Yogendra Singh
(C) A.R. Desai ) (D) S. Sen
44. ‘Caste, Class and Power’ a study by ......c.ccceeeeenen. is an excellent example of

studying rural stratification from the Weberian perspective.
(A) Jan Breman (B) K.L. Sharma |
(C) M.N. Srinivas (D) Andre Beteille
45.  Consider the following classes :
(1) Big farmers (2) Small farmers
(3) Marginal farmers (4) Landless farmers
Which of these are included in agricultural classes ?
(A) (1), (2) and (3) (B) (2), (3) and (4)
(C) (1), (2) and (4) (D) (1), (2), (3) and (4)

46. Which of the following is a social factor that hinders economic

development ?

(A) Lack of effective demands
(B) Capital deficiency

(C) Lack of skilled personnel

(D) Rigid religious attachments

T.B.C. : 36/13/ET=[IL. 26
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47.

48.

49.

50.

51.

Gunnar Myrdal in his book ‘Asian Drama’ discusses :

(A) Poverty in Asian countries

(B) Modern industries in Asian countries

(C) Problem of military dictatorship in Asia

(D) Neo-colonialism in Asian countries

Which model of economy, India followed after independence ?

(A) Capitalistic (B) Mixed

(C) Feudal ' (D) All of these

Ecological degradation is the result of :

(A) Deforestation (B) Construction of big dams
(C) Mining activities (D) All of these
‘StayingAAlive . Women, Ecology and Survival in India’ is authored by :
(A) Mira Shiva; (B) Medha Patekar
(C)' Vandana. Shiva (D) Arundhati Roy
Who advocated the Sarvodaya Model of Development ?
(A) M.K. Gandhi (B) J.L. Nehru

(C) Amartya Sen (D) Vinoba Bhave
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47. AT g ‘ufiem g § R e feuet e w@ € 2
(A) uferE e | e
(B) ulvraiE 3 # snyfie wr@m
(C) dfemr § dfvw ammendt # guen
(D) ufEE 2 # FE-ufavEr
48. W%W%WWW%WW?
(A) qsiramET (B) fafsm
(C) =maaTE ' D) I |ft
49. wiifafasE s & foau R & .
(A) T HI HA (B) &2 gl =1 famfo
(C) w77 fwamd (D) A g
50. ‘REM IyEd : A, TGS e waRETd 39 sfem’ TwE foed € o
(A) o fe=n = (B) Tu1 9w H
(C) == forem 3 Bb) am’mﬁlﬁﬁ
51. fom & weied #iew 1 frey awem =t & 2
| (A) TR T (B) WUA. TEw
(C) =\ 89 (D) fader v
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52.

53.

54.

55.

A.G. Franl'( has talked about :

(A) Soft state (B) Uneven development
(C) Cultural deprivation " (D) Centre periphery
The sociological approach to development emphasises :

(A) Economic aspect

(B) Psychological and moral aspect

(C) Socio-cultural, psychological, moral and economic aspects

(D) Educational development

The nature of development which meets not only the needs of present but

also provides surplus to meet the néeds of future generation is called :
(A) Optimum development

(B) Sustainable development

(C) Rural development

(D) Community development

Who has edited ‘Social Movement in India’ ?

(A) Yogendra Singh (B) M.S.A. Rao

(C) M.N. Srinivas (D) D.N. Dhangare
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52.

53.

54.

55.

TSl Wk e ® IR d & w § .

(A) 53 T (B) 2guaME faw™g
(C) wmnifass === (D) H=z-ufify
fom &1 wueTetT Savm fewe TeE d@ ¥ 2

(A) s gge

(B) wHETf® dw faw veq

(C) IS -Hiepfask, wAEwTh, o au s aq
D) Vefr fww

fomE =1 wPbfa 7 dow a9 F Mavamael w1 qff wwd ¥ oefag we GG
davaFaiH w1 9fd & fou sifets wem &t ¥ 5@ wed ¥

(A) =9 faw™

(B) waq fa=w™

(C) o fersTy

(D) wEEs fawmm

‘e e T dfem” w1 fREY Word fea 2

(A) Az fos (B) THWET. TE

(C) wH.wH. sifam (D) SBLUA. ¥R
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56.

57.

58.

59.

60.

Who among the following is the father of Demography of Population

Studies ?
(A) John Graunt (B) E. Halley
(C) G. King $ (D) B. Franklin

Who among the following constructed the empiricai life table, based on the

data of births and deaths ?
(A) W. Petty (B) Edmund Halley
(C) M. Condorcgt (D) R. Malthus

The migraﬁon of people from rural to urban areas, according to Philip M.

Hauser is known as :
(A) Population implosion _ (B) Population displosion
(C) Population technoplosion (D) Population periplosion

According to Malthus, in the control of over-population, famines represent

an example of :

(A) Preventix;e checks (B) Negative checks

(C) Positive checks (D) Morbid checks

The first synchronic All India Census was organised in the year :
(A) 1871 (B) 1872

(C) 1901 (D) 1951

T.B.C. : 36/13/ET<IL . o 82



56.

57.

58.

59.

60.

Wﬁaﬂﬁ@ﬁwm'mﬁmaﬂiﬁmm%?
(A) W W= (B) 3 &t
(C) it fam (D) @ BaEfeH

frfefes # & 51 @& g0g & sftwgl & SR W frga sngufas steq-arof w1

= H 2
A) T=g. ¥ ' (B) u=HUE ¥

(C) TH. HFEREe (D) 3. HedH

frfe 8. TRSR & S9N, UV &F ¥ Ve &3 W Arl 6 YaEd wudd
g

(A) SHEEA 3qTHEA (B) “HEEA fawpred
(C) HEEAT THATHRI THIeA (D) SHEE YRERRA

HAEH & IER, SHued & e § @ UF SR uEd S © o

(A) TRyE TFam H1 (B) THRHE: UHIH H
- (C) HHNIHE UhIH = (D) 3%y THIH &
Yo TEEEE SfEE NN SO ST @ e ot g e #,
(A) 1871 (B) 1872
(C) 190i ' (D) 1951
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61.

62.

63.

64.

65.

Which one of the following measures of fertility can be computed from data

on sex and age alone from a single census ?

(A) Child-women ratio (B) Total fertility rate
(C) Crude birth rate . - (D) Age specific fertility rate
What does population pyramid deal with ? |

(A) Age and marriage structure

(B) Age and sex structure

(C) Age and labour force structure

(D) Age and lit;eracy structure

Who gave the concept of social capillarity ?

(A) A. Bose : (B) L. Wirth

(C) L. Dumont (D) R.K. Mukherjee

The capacity of a man, a woman to participate in reproduction is referred

to as :
(A) Fertility (B) Fecundity
(C) Sterility (D) None of these

Which one of the following measures of fertility can be computed from the

data on sex and age alone from a single census ?
(A) Child-women ratio (B) Total fertility rate

(C) Crude birth rate (D) Age specific fertility rate

T.B.C. : 36/13/ET=]IL_.. 34



61. yu & fFr=fafed A d @ e wF &1 T ©F ST @ e o el fam
% 3fHSl H HI S TWHAl & ?

(A) w-Hfgen I99 (B) 99U 94 ot

(C) smwifad s=7 =X . (D) =g fafire g <
.62. STEen gy fRud defug § 2

(A) 3mg 3R faamw w=

(B) 3mg xR fam d@w=

(C) maﬂtmww

(D) 3 3R FeRar G

63. WHIS® Sy Ht IgyRn frefafed § ¥ fFay wam =1 & 2

(A) T 99 (B) tw. fad

(C) wa. =gH (D) 3RF. gEsi
64. TUF HEH N TH RA I U Al H T FEd ¥ 2

(A) TS (B) e

(C) s (D) ¥H q #§ &

65. fr=fafed # | g1 &1 IUE St Had T SE # fem sk 3w @ sitE
% YR W HYT W GHAl ¥, ©

(A) SA-T I (B) el WAl &
(C) 3y s = D) 3w faftre ys=ar =X
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66.

67.

68.

69.

70.

The. history of the women’s movements is usually related to :
(A) The social reforms movements of the 19th century

(B) The liberal feminist movements of the 20th century

(C) The radical feminist movements of the 21st century

(D) The democratic political rﬁovements of the post-colonial era

In India, a Special Ministry for Women and Social Welfare was formed at

the Centre in the year :
(A) 1983 (B) 1986
(C) 1976 (D) 1991

Which of the perspective argue that gender inequality is the result of the

collective efforts of men to dominate, control and exploit women ?
(A) Post-modernist perspéctive

(B) Socialist feminist perspective

(C) Radical feminist perspective

(D) Liberal feminist perspective

‘Women are an exploited class in the capitalist modé of production’ is argued
by :

(A) Marxist feminism (B) Post-modernist feminism
(C) Liberal feminism (D) Functional feminism

Oppression of women is not based on personality differences, but on

(A) Patriarchy (B) Genetic factors

(C) Hereditary factors (D) Birth attributes

T.B.C. : 36/13/ET-TIL 36



66.

67.

88.

69.

70.

ufeen s<ied 1 3fae™ S©1 ¥

(A) IIEE FEl & HN-GEUR IR 9

(B) el wet & R AfewEr e |

(C) THFgEt TEt B W GUR Afecar <o |

(D) S-SR @ A e A @

(A) 1983 (B) 1986

(C) 1976 _ (D) 1991

fermitg sreaa TENT @ gfes W ol @ gt FEfa qon e s e
¥, I gfeeso @ o ¢ 7

(A) SWw-snyE gfemm

(B) TWISERT ARERE gftzehtvl

(C) Afare FRER g

(D) SERAR! ARERE Fiezah
{a?ﬁmmﬁaﬁ@wﬁaaﬁ%laﬁma#%?

(A) wEHERT AETE (B) Sw-anyfis AEre

(C) /EER AT (D) WHMEHS ALER
memmfmwmaﬁ%m ................ o et &
(A) foss (B) AT HRehi

(C) ST R (D) <=9 & W&
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7 ¢ | N O S—_—. argue that social problems arise primarily from ignorance and

social constraints on freedom of choice.

(A) Radical feminist (B) Liberal feminist

(C) Socialist feminist (D) Marxist feminist
72.  According to Engels :

(A) A woman’s work never gets done

(B) Women are the last to be hired and first to be fired

(C) Women constitute a reserve labour force

(D) Women can only be seasonal labour force

73. Kate Millett is @ ...oovvvvvveeennnnns feminist.
(A) Liberal (B) Socialist
(C) Marxist (D) Radical

74. Development as a process embraces :
(A) All human activities (B) Only economic activities
(C) Only social activities , (D) Only cultural activities

75. Indian Rural Development Programme widened the gap between rich and

poor which resulted into negative consequences ?
(A) Depeasantisation and suicides of farmers
(B) Suicides among farmers

(C) Drug addiction among farmers

(D) Richness of farmers

T.B.C. : 36/13/ET=[IL 38



1.

79.

73.
74.

75.

IS T e el ® fawed 1 ST a9 Qs gardt w7 uRen
gl g% fFgs @ ¥ 2

(A) fqaRT TRER (B) |RAE! &R
(C) TH=ERT TRER (D) wEHaR! AER
el & 39N

(A) TH Hfeen &1 & wf qof =& @

(B) #™ =& forg wfeed wod o1 § off ot £, 3R &9 ¥ 9od 1ed I & Fywen
I '

(C) wfeemd ws Wiem sm-vife fafifa et &
(D) wfeemnd sae dadt sw-vifd & godt &

B Pk S i Byt W &1
(A) TRAET (B) HHISTEEY

(C) HeRdart (D) SyaErEt

fawmm d wfwfaa @t € .

(A) 94t "rEts nfafafiat (B) whad snfdes nfafafust
(C) wHaa FmIfsrs wifafafiat (D) hae QrEpfas Tfafafesf

W A fasE FEEE ¥ R o e # e ewR @ fawg W e g
e eifvere aftomy fefafes gen .

(A) T #1 faFuseto g1 et
(B) fowami # snoreend

(©) e # Tew 7oT v

(D) fwraml # gga
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